HORIZONTAL TRACK END HANGER BRACKET (SUPPLIED MODEL 902 AND CzAL REVISIONS
E[S\JY %%%glgggu&%})f?Cégggﬁw%oté_tzg CHANNElLF MAX 16'-2" WIDE X 18'-0° HIGH REV. NG.| ZONE: | DATE; ECN NO.| APPVD: DESCRIPTION
INTE A OR DOORS :
HORlZ{}NTAL TRACK DEFLECTION EXCEEDS 0z - | 02/2012 - — _ |UPDATED WINDCODE CHART
CAST ALUMINUM 1/240TH_OF THE DOOR_HEIGHT 4" C—CHANNEL 03 - | 08/2012 - - | UPDATED FOR TDI ,
CABLE DRUM ——\ \//\\//\\//\\// T ODEL 1S MADE ISNE£S gé_slgl\ilP1TlC>1\ 04 - | 08/2013 - ~ | REMOVED PLEXIGLASS OPTION. SPECIFIED ALL MAX GLAZING DIMEN.
OF 6063—T5 ALUMINUM EXTRUSIONS. - ‘
> o | BN
% ‘ i . TOP & BOTYOM RAILS 075 . IMPACT RESISTANT REGUIREWENT FOR WINGBORNE. OFORIS
i INTER. TOP & BOTTOM RAILS .075 REGIONS (FBC SECT. 1606.1.4; IBC SECT, 1609.1.4).
7 i ; oM
/] / GALV STEEL / RS o éAfL;Sgip FIN 040 ADJUSTABLE TOP ROLLER
I TRACE‘*D&I&U?I{% SINGLE & DOUBLE END STILES .075 g-?gg,; O,.-ZS%EN?D‘- ﬁﬁ@v‘@)
' ' CENTER STILES 062 #14x5/8" SHT. METAL SCREWS
NUMBER TIF
HEIGHT  INUMBER OF14"ye™ Gace ONE 4" TALL C—CHANNEL PER DOOR
i ?2;&?"‘3’5%21 {]ngEL. Yy SECTIONS b~ HANNEL ! | sacyow. ONE 1/4” X 3/4” SELF
VERTICAL - .060 MIN up T 8-0 4 4 WO POINT 4 TAPPING SCREW PER STILE.
0 ERTIGAL TRACK CAN BE 10-3 THRU 12-0 6 & h — 5 STRAPS ON EACH SECTION. EACH STRAP
OPENING 12-3 THRU 14-0 7 7 T : / ATTACHED WITH (3) 1/4" X3/4” SELF TAPPING
CEIGLT EITHER BRACKET MOUNT, 14-3 THRU 16-0 g g V  SCREWS (TWO SCREWS TO DOOR, ONE SCREW
CONTINUOUS ANGLE OR 5 J MEETING
REVERSE ANGLE TRACK. 16-3 THRU 18-0; 9 9 ); — RAILS ~FORM TO C—CHANNEL).
w2 ALL TRACK BRACKETS AND ) - T T : A TONGUE SEETION 1 =7
T el | [l TRACK ClPS ARE 12 Ga MAX. SECTION HEIGHT: 24 ) T | T ,MAx'f~*.33 1 AND GROOVE [SECTION.1 - 1
24+ GALV. STEEL. BRACKETS AND — - ' — — JOIN ,
C | CIR-CTR | Il CLIPS ARE ATTACHED TO TRACK LHR TOP BRACKET MAX. 16'-2* f y ﬁ“ﬁ%ﬁ%i@gﬁ%;&
Y TTHl WiTH ETHER TWO 1/4" RIVETS DOUBLE HORIZONTAL PANEL IN BOTTOM SECTION BRNGS. FULL FLOATING
L A~ —|—H] OR ONE 1/4" BOLT. TRACK CAN BE .050" THICK SMOOTH IN CASE HARDENED STEEL #14X5/8" SHEET METAL
. ALUMINUM. RACES SCREWS QTY (4) ALONG

>

SIDE ELEVATION

STANDARD—LIFT TRACK DETAILS™
**HI~LIFT, VERTICAL LIFT, LOW HEADROOM

TRACK AVAILABLE,

LOW HEADROOM

DOUBLE TRACK

NOTE: DOUBLE TRACK LOW HEADROGM,

QPTION

CENTER STILES FASTENED TO RAILS

3/16" MIN.
STEEL JAMB

MAY BE BACK—
FILLED WiTH

CONCRETE, BUT
NOT REQUIRED.

COR-LOVLY CENTER HINGE OF 16 GA.

WITH FULL LENGTH S5/16* ALUMINUM
RODS AND FLANGE NUTS

END STILES FASTENED TO
RAILS WITH FULL LENGTH
5/167 ALUMINUM RODS AND
FLANGE NUTS 7

f

Hi—LIFT TRACK, FOLLOW-THE-ROOQF TRACK,
AND VERTICAL LIFT TRACK ARE AVAILABLE
OPTIONS. 3" TRACK ALSO AVAILABLE.

FULL-VISION SECTIONS._ LN
TO BE 1/8" DSB GLASS,
HELD IN PLACE WiTH NET

SNAP~IN GLAZING BEAD

AND BUTYL TAPE .

RAIL

INTERMEDIATE BOTTOM

—

INTERMEDIATE ROLLER
HINGES OF 14 GA MIN
GALV STEEL, FASTENED
WITH (4) #14 X 5/8°
SHEET MTL SCREWS & (2)
1/4"x3/4" SELF TAPPING

SCREWS.

1

l

J[:Phl /2"
— 5/8" {TYP.}

CENTER. OF EACH HINGE
| [ —

& O _é’._Q_A..
DOUBLE
v-”‘ END_HINGES

1/47X3/4" SELF TAPPING
SCREWS. QTY. (2) ALONG
CORNERS OF EACH HINGE

m
|
|
|
|
|
I
1
1
%
B ;ﬁEﬁ WEE—SDN%EGOXX GALV. STEEL, ATTACHED TO INTER | THS DOOR WEETS OR EXCEEDS, THE DESION
: ’ - REINFORCING FIN ON INTER., TGP il _ | * TALL C—CHANNEL LOADS FOR THE WIND SPEEDS LISTED BELOW
ELECTRODE MIN.). WELD BOTTOM RAIL WITH (2) #14 x 5/8° RAILS ANGLE CUT AT END STILES INTERMEDIATE TOP f o G GaLy, STEEL N atC A, 2091, FLOKIDA BLDG, CODE
1(')% iENG[L%Cﬁgggzt\’/'ERTECALH STEEL JAMBS SHT MTL SCREWS AND TO INTER., TOP RAIL WITH REINFORCING | condirions: 1 ENCLosED aUiLpiNc, 5,20;300
RAIL WITH <2) 174 ~ 20 x £/2° HEX
CENTER AND TACK 2GR SR REVERSE | HEAD MACHINE SCREWS & NUTS |SECTION 4 - 4 FIN AND CAP { RN D S GRS
WELD TOE OF ANGLE AT - ! WIND SPEED (MPH)| <110 [ 120 | 120 <140
SAME SPACING. MOUNT TRACK FASTENED SECTION 2 — 2 [SECTON 3 - 3§ ,orgagaL To | o T A B
DIRECTLY TO STEEL JAMB BE FLEXIBLE A2 MEAN ROGF ] 30 | 25 | 30
%
T — : i
WOOD JAMB ON CONCRETE | CONCRETE JaMpS  |-SECTION 2= STEEL JAMBS (00D _JAMB2 3/871-1/2" MIN. 5
2,000 PS| M I 2000 PSI MIN ! | /— EMBED LAG | BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL,
CONCRETE I CONCRETE i 3/16” MIN. STEEL SCREW. WASHER FASTENED WITH <4) #14 X 5/8° SHT MTL SCREWS
. " l ; JAME [ REQ'D, 24" MAX. .
gI/NS EL;;EE 5( ':‘,;E}-:{fé ANGHOR : ) . { 0.C. TO SECURE I . BOTTOM SECTION REINFORCED W/ A TEMPERED ALUMINUM EXTRUSION
BOLT. WASHER INCL'D 1/4"%1-1/2" I MAY BE BACK-~FILLED 1/47%3/4” LG, | 2x6 WOOD JAMS e & 7ot 7 WITH INTEGRAL RETAINER FOR FLEXIBLE VINYL ASTRAGAL
15" MAX. 0.C. TO SECURE MIN. EMSED TAPCON | WITH CONCRETE, BUT Serew NG T$ UTORE. sﬁ%v%i%ﬁré & E%%m """"" ”*' ’a
e I 58 8,501 Colent roen | SRR B F e PN con| EATE B oy 7N SN, W veSTERg pE
3" MIN. €DGE DISTANCE. | T ok, | ; TO SECURE C'SINK I NEEDED. O THE BULDIRG ENGINZER ng o '-V“D IGN LOADS: +32 & -32 P S#F ' —
C'SIIKIF NEEOED. T0 SECURE ANGLE | ANGLE TO ARGHITECT, OF ReCorD- 7 » “TEST LOADS  +48 & —48 PSF. MPC: C~AL=1F499
A / : | % coh?t “Eoee DISTANCE| ' | BRACKET MOUNT OR . Onads Stated \tﬁthaﬁé&e"' P 8585 Duke Boutevard WINDLIIAD RATING
BRACKET MOUNT QR CONIINUOUS | | CONTINUQUS ANGLE ’ I{C}[_QFQANCES lu a Mescm, OH_45040 USA
ANGLE MOUNT TRACK FASTENED ' | MOUNT TRACK ’ G . Tel. No. 513-770-4800
' | FASTENED TO 2X6 #2 : : S Buiidify Frodusts Cc-m an Fax No. 513-770-4853
T0 2x6 #2 OR BETTER i | OR BETTER YELLOW# prrigf Yo c—— “ 0 'og< & 011‘“ : y
ONE Byieniore ta ! REVERSE OR CONTINUOUS i REVERSE OR CONTINUOUS PINE JAMB WITH ONE ' 'a,. “Go Tl DQ‘;’ RESCRIPTION: _M/N 802 / C2AL +32PSF DES LOAD
LAG SCREW PER BRACKET ! oLl Uit TRACK i ANGLE MOUNT TRACK b 5/16"X1-5/8"LG.LAG ‘i OSJ@NMM U DRAWN BY: RJK. DATE: 12/8/99 | SCALE: N/A DWG.
OR TRACK cLIP LOGATION. i 10 CONGRETE. ; To STECL e | SR TRACK cp Degreéa,‘— FI/Z~[CHECKED BY: - DATE: - SHEET 1 OF 1 [SIZE
i g : JAME, | LOCATION Third Angle D_@ Stoten oY AN : :
: : | ' Projection @ gm@:ﬁsoﬁs‘smgzﬁrﬁceuzs, DWG. NO.: 103294

3

=






